vertical Asymptotes: can be found by setting unique

—

factors In denominator=0

At vertical asymptotes, function outputs increase or
decrease without bound
Horizontal Asymptotes: look at the graph on GC and trace

out to very small and very large values of x (end behavior)
to see if the outputs approach a value. OR know the rules:

e If Degree of Numerator = Degree of Denominator, then
the HA is y=ratio of leading coefficients

e If Degree of Numerator< Degree of Denominator, then
the HA is y=0

e If Degree of Numerator > Degree of Denominator, then
there is NO HA (there may be a slant asymptote)

Ex 3) Find all horizontal and vertical asymptotes for each

function.
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